

County Distribution Detail Report through 08/04/2015

Aur	OI	a
-----	----	---

6/2015

2,468

3,595

10

6,073

\$7,591.25

\$151.94

\$7,439.31

0.70

\$5,207.52

714.014									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,306	1,826	0	3,132	\$3,915.00	\$80.72	\$3,834.28	0.70	\$2,684.00
							Entity Tota	al:	\$2,684.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,684.00
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	4,894	10,165	38	15,097	\$18,871.25	\$391.07	\$18,480.18	0.70	\$12,936.13
							Entity Tota	al:	\$12,936.13
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,936.13
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	957	1,055	2	2,014	\$2,517.50	\$57.71	\$2,459.79	0.70	\$1,721.85
							Entity Tota	al:	\$1,721.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,721.85
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

							Entity Tota	ıl:	\$5,207.52
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$5,207.52
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	10,442	19,050	72	29,564	\$36,955.00	\$747.48	\$36,207.52	0.70	\$25,345.26
							Entity Tota	ıl:	\$25,345.26
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$25,345.26
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	13,043	24,687	196	37,926	\$47,407.50	\$998.30	\$46,409.20	0.70	\$32,486.44
							Entity Tota	ıl:	\$32,486.44
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$32,486.44
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,823	3,433	4	6,260	\$7,825.00	\$160.71	\$7,664.29	0.70	\$5,365.00
							Entity Tota	ıl:	\$5,365.00
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$5,365.00
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	632	367	1	1,000	\$1,250.00	\$26.24	\$1,223.76	0.70	\$856.63

Entity Total:

Adjustment:

Total Amount:

\$856.63

\$0.00

\$856.63

Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,392	5,984	10	8,386	\$10,482.50	\$213.84	\$10,268.66	0.70	\$7,188.06
							Entity Tota	ıl:	\$7,188.06
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$7,188.06
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	849	1,436	2	2,287	\$2,858.75	\$57.18	\$2,801.57	0.70	\$1,961.10
							Entity Tota	ıl:	\$1,961.10
							Adjustmen	ıt:	\$0.00
							Total Amor	unt:	\$1,961.10
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	3,366	4,996	8	8,370	\$10,462.50	\$209.24	\$10,253.26	0.70	\$7,177.28
							Entity Tota	ıl:	\$7,177.28
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$7,177.28
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	60	7	0	67	\$83.75	\$1.70	\$82.05	0.70	\$57.44
							Entity Tota	ıl:	\$57.44
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$57.44
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	988	69	33	1,090	\$1,362.50	\$40.17	\$1,322.33	0.70	\$925.63
							Entity Tota	ıl:	\$925.63
							Adjustmen	t:	\$0.00

							Total Amo	unt:	\$925.63
City of Sioux Falls,	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	6,137	1,103	213	7,453	\$9,316.25	\$228.35	\$9,087.90	0.70	\$6,361.53
							Entity Tota	al:	\$6,361.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,361.53
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,690	2,469	2	4,161	\$5,201.25	\$104.04	\$5,097.21	0.70	\$3,568.05
							Entity Tota	al:	\$3,568.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,568.05
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,107	7,029	44	9,180	\$11,475.00	\$238.82	\$11,236.18	0.70	\$7,865.33
							Entity Tota	al:	\$7,865.33
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,865.33
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	9,669	17,909	113	27,691	\$34,613.75	\$718.98	\$33,894.77	0.70	\$23,726.34
							Entity Tota	al:	\$23,726.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$23,726.34
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

0.70

\$1,633.49

Lines

4

1,905

\$2,381.25

\$47.70

\$2,333.55

441

6/2015

1,460

							Adjustment:		\$0.00
							Total Amo	unt:	\$1,633.49
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	3,308	4,646	24	7,978	\$9,972.50	\$226.04	\$9,746.46	0.70	\$6,822.52
							Entity Tota	al:	\$6,822.52
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,822.52
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	6,742	13,185	163	20,090	\$25,112.50	\$519.22	\$24,593.28	0.70	\$17,215.30
							Entity Tota	al:	\$17,215.30
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$17,215.30
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,702	3,437	3	6,142	\$7,677.50	\$153.95	\$7,523.55	0.70	\$5,266.49
							Entity Tota	al:	\$5,266.49
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$5,266.49
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,266	2,798	5	5,069	\$6,336.25	\$142.68	\$6,193.57	0.70	\$4,335.50
							Entity Tota	al:	\$4,335.50
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,335.50
Douglas									

Entity Total:

\$1,633.49

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,475	2,050	4	3,529	\$4,411.25	\$88.24	\$4,323.01	0.70	\$3,026.11
							Entity Tota	al:	\$3,026.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,026.11
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,570	2,699	7	4,276	\$5,345.00	\$107.01	\$5,237.99	0.70	\$3,666.59
							Entity Tota	al:	\$3,666.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,666.59
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	3,602	3,909	8	7,519	\$9,398.75	\$191.32	\$9,207.43	0.70	\$6,445.20
							Entity Tota	al:	\$6,445.20
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,445.20
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	999	1,343	4	2,346	\$2,932.50	\$59.57	\$2,872.93	0.70	\$2,011.05
							Entity Tota	al:	\$2,011.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,011.05
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,075	5,232	7	7,314	\$9,142.50	\$187.59	\$8,954.91	0.70	\$6,268.44
							Entity Tota	al:	\$6,268.44

	Adjustment:	\$0.00
	Total Amount:	\$6,268.44
Gragory		

Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,859	3,523	3	6,385	\$7,981.25	\$170.67	\$7,810.58	0.70	\$5,467.41
							Entity Tota	ıl:	\$5,467.41
							Adjustmer	t:	\$0.00
							Total Amo	unt:	\$5,467.41
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,102	1,350	5	2,457	\$3,071.25	\$61.44	\$3,009.81	0.70	\$2,106.87
							Entity Tota	ıl:	\$2,106.87
							Adjustmer	t:	\$0.00
							Total Amo	unt:	\$2,106.87
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,089	3,451	7	5,547	\$6,933.75	\$138.70	\$6,795.05	0.70	\$4,756.54
							Entity Tota	ıl:	\$4,756.54
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$4,756.54
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,407	2,552	8	3,967	\$4,958.75	\$99.47	\$4,859.28	0.70	\$3,401.50
							Entity Tota	ıl:	\$3,401.50
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$3,401.50
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

6/2015	1,110	2,821	22	3,953	\$4,941.25	\$101.38	\$4,839.87	0.70	\$3,387.91
							Entity Tota	al:	\$3,387.91
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,387.91
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	106	791	1	898	\$1,122.50	\$32.24	\$1,090.26	0.70	\$763.18
							Entity Tota	al:	\$763.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$763.18
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	5,586	14,269	99	19,954	\$24,942.50	\$524.85	\$24,417.65	0.70	\$17,092.36
							Entity Tota	al:	\$17,092.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,092.36
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	3,466	4,773	8	8,247	\$10,308.75	\$206.19	\$10,102.56	0.70	\$7,071.79
							Entity Tota	al:	\$7,071.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,071.79
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	883	1,029	2	1,914	\$2,392.50	\$49.09	\$2,343.41	0.70	\$1,640.39
							Entity Tota	al:	\$1,640.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,640.39

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	783	828	0	1,611	\$2,013.75	\$40.30	\$1,973.45	0.70	\$1,381.42
							Entity Tota	al:	\$1,381.42
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,381.42
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,064	1,190	0	2,254	\$2,817.50	\$56.37	\$2,761.13	0.70	\$1,932.79
							Entity Tota	al:	\$1,932.79
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,932.79
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	624	655	3	1,282	\$1,602.50	\$32.06	\$1,570.44	0.70	\$1,099.31
							Entity Tota	al:	\$1,099.31
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,099.31
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,735	3,920	3	5,658	\$7,072.50	\$142.26	\$6,930.24	0.70	\$4,851.17
							Entity Tota	al:	\$4,851.17
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,851.17
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	3,625	8,954	32	12,611	\$15,763.75	\$328.32	\$15,435.43	0.70	\$10,804.80

							Entity Tota		\$10,804.80 \$0.00
							Total Amo	unt:	\$10,804.80
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	9,929	15,006	58	24,993	\$31,241.25	\$640.13	\$30,601.12	0.70	\$21,420.78
							Entity Tota	al:	\$21,420.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,420.78
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	107	0	0	107	\$133.75	\$0.00	\$133.75	0.70	\$93.63
6/2015	9,204	36,154	197	45,555	\$56,943.75	\$1,210.55	\$55,733.20	0.70	\$39,013.24
							Entity Tota	al:	\$39,106.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$39,106.87
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,465	1,829	4	3,298	\$4,122.50	\$88.62	\$4,033.88	0.70	\$2,823.72
							Entity Tota	al:	\$2,823.72
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,823.72
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,082	2,645	8	4,735	\$5,918.75	\$121.00	\$5,797.75	0.70	\$4,058.43
							Entity Tota	al:	\$4,058.43
							Adjustmer	nt:	\$0.00

Total Amount:

\$4,058.43

McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,731	4,075	8	6,814	\$8,517.50	\$170.39	\$8,347.11	0.70	\$5,842.98
							Entity Tota	al:	\$5,842.98
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,842.98
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,207	1,424	1	2,632	\$3,290.00	\$79.19	\$3,210.81	0.70	\$2,247.57
							Entity Tota	al:	\$2,247.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,247.57
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	6	0	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
6/2015	5,273	17,391	162	22,826	\$28,532.50	\$600.34	\$27,932.16	0.70	\$19,552.51
							Entity Tota	al:	\$19,557.76
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$19,557.76
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	646	621	0	1,267	\$1,583.75	\$31.69	\$1,552.06	0.70	\$1,086.44
							Entity Tota	al:	\$1,086.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,086.44
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,383	1,488	2	2,873	\$3,591.25	\$72.10	\$3,519.15	0.70	\$2,463.41

Entity Total:	\$2,463.41
Adjustment:	\$0.00

Adjustment:

Total Amount:

\$0.00

\$2,207.09

Total Amount: \$2,463.41

Minnenana									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	8	0	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
6/2015	52,990	137,136	1,741	191,867	\$239,833.75	\$5,054.15	\$234,779.60	0.70	\$164,345.72
							Entity Tota	al:	\$164,352.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$164,352.72
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,471	4,364	35	5,870	\$7,337.50	\$186.05	\$7,151.45	0.70	\$5,006.02
							Entity Tota	al:	\$5,006.02
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,006.02
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1	0	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2015	34,121	69,195	544	103,860	\$129,825.00	\$2,663.32	\$127,161.68	0.70	\$89,013.18
							Entity Tota	al:	\$89,014.06
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$89,014.06
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	167	2,409	6	2,582	\$3,227.50	\$74.52	\$3,152.98	0.70	\$2,207.09
							Entity Tota	al:	\$2,207.09

_				
u	^	tt	Δ	r

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,534	1,643	4	3,181	\$3,976.25	\$79.54	\$3,896.71	0.70	\$2,727.70
							Entity Tota	l:	\$2,727.70
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,727.70
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	4,223	4,472	6	8,701	\$10,876.25	\$239.56	\$10,636.69	0.70	\$7,445.68
							Entity Tota	l:	\$7,445.68
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,445.68
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	1,011	1,766	0	2,777	\$3,471.25	\$69.45	\$3,401.80	0.70	\$2,381.26
							Entity Tota	l:	\$2,381.26
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,381.26
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,443	4,396	6	6,845	\$8,556.25	\$171.47	\$8,384.78	0.70	\$5,869.35
							Entity Tota	l:	\$5,869.35
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,869.35
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	843	2,123	10	2,976	\$3,720.00	\$76.25	\$3,643.75	0.70	\$2,550.63

							Adjustment:		\$0.00
							Total Amor	unt:	\$2,550.63
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	892	1,094	1	1,987	\$2,483.75	\$49.69	\$2,434.06	0.70	\$1,703.84
							Entity Tota	ıl:	\$1,703.84
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$1,703.84
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	0	13	3	16	\$20.00	\$0.41	\$19.59	0.70	\$13.71
							Entity Tota	ıl:	\$13.71
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$13.71
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,800	3,748	7	6,555	\$8,193.75	\$163.90	\$8,029.85	0.70	\$5,620.90
							Entity Tota	ıl:	\$5,620.90
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$5,620.90
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,676	5,725	10	8,411	\$10,513.75	\$211.54	\$10,302.21	0.70	\$7,211.55
							Entity Tota	ıl:	\$7,211.55
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$7,211.55

Union

Entity Total:

\$2,550.63

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	3,748	11,730	63	15,541	\$19,426.25	\$428.39	\$18,997.86	0.70	\$13,298.50
							Entity Tota	al:	\$13,298.50
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$13,298.50
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	2,548	3,557	9	6,114	\$7,642.50	\$154.59	\$7,487.91	0.70	\$5,241.54
							Entity Tota	al:	\$5,241.54
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,241.54
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	6,772	14,449	42	21,263	\$26,578.75	\$550.72	\$26,028.03	0.70	\$18,219.62
							Entity Tota	al:	\$18,219.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$18,219.62
Totals	268,742	543,479	4,097	816,318	1,020,397.50	21,320.71	999,076.79		